Wt&b’j V74
/

—

n = { A, = {
FD , BE -
B= (k1)
= ‘BT
_23 Ny
= {4380 xz'—‘r%)
_ =
= ({14 y 0 = I3
& |
=(.025 V)
= Yo GV'/
& = - - n "
| e ) "£o i1z
O.002eY 0.08 0,48 /2.
0.02 0.8 0,3] 0.82
0.2 g 3% /a’g K3 M’L/




4a) Lol ol slin. Aiat zs,/z =t T = v,

b) Fzo,i = Hwo doeo
c> M—M I;!/ WMS:(/Z

3al #7:” £ ok, = \V
e

i3
L
=i
™
W
N
\t
3
N

= /X 4o m

# pasteslio pervelime (denais) = 6xi0””

-3
2z2.4 %10 Wr}

2
= 2-7%X 10 -

wee tt wbads poviline % laveed Halotes




q477 Z.Bi(im)
I

3’<BTM= (.3 0 e

d4r

: /| 2
T= 1 (_3_> > o2
5 \9rm k M

2

-2F
1.38%05 C v 4wl LF (0

:4/3)/3 (2.7x1c ) besnis’)
3 ya

T 2005 K.

20 Quneidy of comclutirn oFiomo

= .9 /07’“’3‘ -

é([ﬁw % /,é‘?‘xl(;z

2z -3
= ¥.3w/0 Can

b) # WJZM M/szz\bﬂ’é{/w‘ﬂ . __lZ'ﬁrs

LB 3 5
2
= L/F (meiéc+ )
21
MM’D’M/L Z:mw E"“’ eV -



To7
d R
57
= ey, ‘h /43 + €M
m_ R> R*
S/ 2/
R= N Lor £3/4)"
G H* Mg
Eor nclsdimolie caae 0O - a/l:n,.
4 K
. (/.
(0> = vBTiZ M t3> ®
Pp Y

+3 ’/3
mec:CI/' Nt) | ao%z/w\/;
Y K

/s =7
R= N_ (37 %/4)"

m&

>/'3(9/7 I»/ff) = N L9nt )

G Nt Me m, €

s /s
MZ= & N ’ (777&}/7)
G

1’/3







